EXAM MFE QUESTIONS OF THE WEEK

S. Broverman, 2007

Week of March 19/07

A call option on a non-dividend paying stock has a strike price of 100 and expiresin one year.
Y ou are given the following:

- current stock priceis 100

- current option price is 19.384- continuously compounded risk free interest rate is 8%

- the call deltais .6554

For the same stock, find the price of asimilar call option with a strike price of 110.

The solution can be found below.



Week of March 19/07 - Solution

A = N(dy) = .6554 - dy = .4 (from the standard normal table).

For the option with a strike price of 100, and 7' = 1, » = .08, we have
C(0) = 19.384 = SyN(d;) — Ke "' N(d;) = 100(.6554) — 100e "N (d,) .
—+ N(ds) = 50005 ds =0=d) —o\/T=4d—0c>0=4.

Alternatively, we can find o asfollows:

dn — n(S/K)+(r+10®)T _ In(100/100)+(.08+10?)
1= Uﬁ - o

- 084+ .50 =4020>— 8 +.16=0-o0= 4.

=4

For the option with a strike price of 110, and 7' = 1, » = .08, we have

dy = MIOMOHOSEUE) _ 46 and dy = 1617 — 4= — .24

C(0) = SyN(dy) — Ke ""N(d;) = 100(.5636) — 110e~%8(.4052) = 15.21 .




